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(GCF-7 & GCF-14) 

DATE: 24.10.2019 MAXIMUM MARKS: 100 TIMING: 3 Hours 
 

 BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 
Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  
Working Notes should from part of the answer.  

 

 

Answer 1: 

(a) bl iz’u esa iwNh xbZ leL;k tks fd Hkkjrh; vuqca/k vf/kfu;e] 1872 dh /kkjk 10 ds vUrxZr vkrh gSA 

bl vf/kfu;e ds izko/kkuksa ds vuqlkj nksuksa ikfVZ;ksa esa ,d oS/kkfud lEc/k LFkkfir djus dh ea’kk 

fufgr gksuh pkfg,A lkekftd ;k ?kjsyq lgefr;ksa esa D;ksafd dksbZ oS/kkfud lEca/k LFkkfir djus dh 

Hkouk ugha gksrh gS blfy, o oS/kkfud vuqca/k ugh gksrs gS ftUgsa izorZuh; fd;k tk ldrk gSA  

;g fl)kUr csYQksj cuke csYQksj ¼1912 2 ds-ch- 571½ ds fookn esa LFkkfir fd;k x;k gSA bl izdkj 

bl fl)kUr }kjk tks fd bl fookn es LFkkfir fd;k x;k gS csVk vius firk ls ,d yk[k :i;s dh 

jkf’k mijksDr dkj.kksa ls ugha mxkg ldrk gSA  

  

Answer: 

(b) dEiuh vf/kfu;e dh /kkjk 3 ds vuqlkj lkoZtfud dEiuh ds fLFkfr esa ,d dEiuh tk;t mís’; ds 

fy, lkr ,oa vf/kd yksxksa ds }kjk] futh dEiuh dh fLFkfr esa nks ,oa vf/kd yksxksa ds }kjk ,d O;fDr 

dEiuh dh fLFkfr esa ,d O;fDr }kjk fuxfer dh tk ldrh gSA bl izzdkj dEiuh xsj dkuwuh mís’; 

,oa xSj dkuwuh O;olk; djus ds fy, fuxfer ugha dh tk ldrh gSA  

/kkjk 9 ds vuqlkj fuxeu dh frfFk ls lhek fu;e ds vfHknkudrkZ ,oa vU; lnL; tks le;&le; 

ij dEiuh ds lnL; gks ldrs gSa] lhekfu;e esa 'kkfey uke ds v/khu ,d fuxfer fudk; gksaxsA ,slh 

iathd`r dEiuh bl vf/kfu;e ds v/khu fuxfer dEiuh ds lHkh dk;ksZ dks djus ds fy, leFkZ gksxhA 

bl vf/kfu;e ds vuqlkj dEiuh oS/k mís’; ds fy, xfBr dh tk ldrh gS bl izdkj dEiuh xSj 

dkuwuh O;olk; ds fy, xfBr ugha dh tk ldrh gSA  

orZeku izdj.k esa ;g jftLVªkj dk nks"k gS fd mlus dEiuh dks fuxeu izek.k&i= tkjh fd;k] ijUrq 

fuxeu izek.k&i= tkjh djuk dEiuh dks ;g vf/kdkj ugha nsrk fd og xSj dkuwuh O;olk; djsaA 

;fn orZeku leL;k esa mijksDr izko/kkuksa dks ykxw fd;k tkrk gS] rks dEiuh dk rdZ xyr gS ;|fi 

fuxeu dk  izek.ki= ,d fu’p;kRed izek.k gksrk gS fd iathdj.k dj fn;k gS ftldk vfHkizk; gksrk 

gS fd ;g fu’pkRed izek.k gS fd dEiuh vf/kfu;e dh lHkh vis{kk,W iwjh dj yh x;h gS] tksfd 

dEiuh ds fuxeu ds fy, vko’;d gS dk vuqikyu gks x;k gS vkSj vc ;g dEiuh oS/kkfud :Ik ls 

vfLrRo eas vk x;h gS ij bldk vFkZ ;g ugha gksrk fd lHkh mís’; oS/kkfud gSA  

ckseSu cuke lSdqyu lkslk;Vh fy- esa U;k;ky; us fu.kZ; fn;k fd dkuwu esa ,slk dksbZ izko/kku ugha gS 

fd lkjs mís’; ;k mlesa dqN mís’; tksfd ik"kZn lhekfu;e esa fn;s x;s gSa ;fn og voS/kkfud gS rks 

fuxeu izek.k&i= ds tkjh gks tkus ls oS/kkfud gks tk;saxsA blfy, dEiuh dk ;g rdZ fd mlds 

}kjk fd;s tk jgs O;olk; dh izd`fr dh tkWp fuxeu izek.k&i= tkjh gks tkus ds mijkUr ugha gks 

ldrh gS ;g rdZ ekU; ugha gSA fQj Hkh jftLVªkj ds ikl mís’; dh voS/krk gh i;kZIr vk/kkj gS fd 

og viuh xyrh dk lq/kkj djsa ,oa Lo;a vko’;d dne mBk;s rkfd dEiuh dk iathdj.k jn~n gks 

tk,A   

 

Answer: 

(c) fuEufyf[kr ifjfLFkfr;ksa esa ’krZ Hkax gksus ds dkj.k Hkh vuqcU/k dk ifjR;kx ugha fd;k tk ldrkA 

(i) tc Øsrk fdlh ’krZ dk vuqikyu fcYdqy NksM+ nsrk gS] rc ,d i{k vius ykHk ds fy, mDr 

cU/ku dk ifjR;kx dj ldrk gS] 

(ii) tc Øsrk ’krZ dks Hkax djus dh fLFkfr dks vk’oklu dh fLFkfr ds :i esa ekuus dk pquko 

djrk gS vFkkZr~ og vuqcU/k dks jÌ djus d LFkku ij ek= gtkZus dk nkok djrk gS] vFkok 
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(iii) tc vuqcU/k foHkktu ;ksX; ugha gS vkSj Øsrk us ;k rks leLr eky dks Lohdkj dj fy;k gS 

vFkok mlds Hkkx dks Lohdkj fd;k gSA 

(iv) tc fdlh ’krZ vFkok vk’oklu dks iwjk fd;s tkus esa dkuwu ds }kjk vlEHkkouk vFkok 

vU;Fkk ds dkj.k NwV ns ldrs gSaA 

 

Answer 2: 

(a) ifjfLFkfr;kWa ftuesa LLP dks fVªC;quy }kjk lekIr fd;k tk ldrk gS (Circumstances in which 

LLP may be Wound up by Tribunal) ¼/kkjk 64½ & ,d LLP dks fVªC;quy }kjk lekIr fd;k tk 

ldrk gS & 

 ¼v½ ;fnLLP fu.kZ; ysrh gS fd LLP dks fVªC;quy }kjk lekiu dj fn;k tk;s]  

 ¼c½ ;fn] 6 ekg ls vf/kd vof/k ds fy,] LLP ds lk>snkjksa dh la[;k 2 ls uhps rd ?kV tkrh gS]  

 ¼l½ ;fnLLP vius _.kksa dks pqdkus esa vleFkZ gksa]  

 ¼n½ ;fn LLP us Hkkjr dh v[k.Mrk rFkk Lok;Rrrk] ns'k dh lqj{kk ;k lkoZtfud O;oLFkk ds fgrksa 

ds fo:) dke fd;k gS]  

 ¼bZ½ ;fnLLP fdlh ikWap fujUrj foRrh; o"kksZ ds fy, okf"kZd fjVuZ ;k [kkrk rFkk 'kks/ku {kerk dk 

fooj.k jftLVªkj ds ikl QkbZy djus esa Hkwy ij jgh gS] ;k  

 ¼Q½ ;fn fVªC;quy dk ,slk erg S fd ;g U;k;ksfpr rFkk lerkiw.kZ gksxk fd LLP dk lekiu dj 

fn;k tk;sA  

 

Answer: 

(b) oLrq fodz; vf/kfu;e 1930 dh /kkjk 16 ds rgr~ dksbZ Hkh oLrq fdlh fufgr dk;Z ds fy, mi;qDr gS 

bl ckr dk p;u Loa; dzsrk djrk gSA og vius xyr p;u ds fy, fodzsrk dks nks"kh ugha Bgjk 

ldrkA  

dsoy fuEu ifjfLFkfr esa fodzsrk dks nks"kh cuk;k tk ldrk gSA  

 ¼1½ dzsrk us eky [kjhnus dk mn~ns'; crk;k gksA  

¼2½ dzsrk us fodzsrk dh ilUn ij Hkjkslk fd;k gksA 

¼3½ fodzsrk lkekU;rk mlh izdkj dh oLrq dks csprk gksA  

mijksDr ekeys esa D;ksafd Jh ;kno us diM+s [kjhnrs le; vius mn~ns'; dk [kqyklk ugha fd;k Fkk 

blfy, mUgsa dksbZ fodzsrk ds fo:) vf/kdkj izkIr ugha gksaxsA  

 

Answer: 

(c)   iwokZf/kdkj vkSj eky dks ekxZ esa jksdus ds vf/kdkj esa vUrj 

  (DISTINCTION BETWEEN RIGHT OF LIEN AND  

  RIGHT OF STOPPAGE IN TRANSIT) 

iwokZf/kdkj eky dks ekxZ esa jksdus ds vf/kdkj 

1- iwokZf/kdkj dk vk'k; eky ij foØsrk dk 

vf/kdkj cuk;s j[krk gSA 

eky dks ekxZ esa jksdus dk vFkZ eky ij iqu% 

dCtk izkIr djuk gSA 

2- iwokZf/kdkj ds lEcU/k esa eky foØsrk ds dCts 

esa gksuk pkfg;sA 

tcfd eky ds ekxZ esa jksdus ds lEcU/k esa (d) 

foØsrk us eky ij ls dCtk lekIr dj fn;k gks 

([k) eky fdlh ekyokgd ds ikl gks(x) Øsrk us 

eky dks izkIr ugh fd;k gSA 

3- iwokZf/kdkj ml fLFkfr esa Hkh iz;ksx fd;k tk 

ldrk gS tc Øsrk fnokfy;k ugh gqvk gSA 

ijUrq eky dks ekxZ esa jksdus dk vf/kdkj rHkh 

iz;ksx fd;k tk ldrk gS tc Øsrk fnokfy;k gks 

x;k gksA 

4- eky dks ekxZ esa jksdus dk vf/kdkj ogk¡ 

vkjEHk gksrk gS tgk¡ iwokZf/kdkj lekIr gksrk 

gSA 

bl izdkj iqokZf/kdkj dh lekfIr eky dks ekxZ esa 

jksdus dk vf/kdkj dk izkjfEHkd fcUnq gSA 
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Answer 3: 

(a) bl iz'u ds lEcU/k esa fd D;k ,d iath—r QeZ ds (ftlds O;kikj dks mlds ,d lk>snkj dh e`R;q 

ds i'pkr lekiu ds i'pkr tkjh j[kk tkrk gS) 'ks"k lk>snkjksa }kjk] ml fLFkfr ds i'pkr~ fd;s x;s 

O;ogkj vFkok lkSnksa ds lEcU/k esa] QeZ ds iath;d dks QeZ dh lajpuk esa ifjorZu ds fo"k; esa lwfpr 

fd;s fcuk] eqdnek fd;k tk ldrk gS] 'ks"k lk>snkjksa }kjk dfFkr :i ls ckn esa fd;s x;s O;ogkj 

vFkok lkSnksa ds fo"k; esa eqdnek fd;k tk ldrk gS] 'ks"k dks nksckjk mlds dfFkr lekiu ds i'pkr~ 

iath—r ugha fd;k x;k Fkk vksj mDr lk>snkj ds fo"k; esa dksbZ uksfVl iath;d dks ugha fn;k x;k Fkk 

vkSj mDr lk>snkj ds fo"k; esa dksbZ uksfVl iath;d dks ugha fn;k x;k FkkA   
bu leLr ekeyksa esa tks ijh{k.k ykxw fd;k x;k Fkk og ;g Fkk fd D;k oknh us nks vko';drkvksa dks 

iw.kZ fd;k Fkk %& 

(i) eqdnek ml QeZ ds }kjk vFkok mlds vk/kkj ij fd;kx;k gks tks] iath—r dh xbZ Fkh 

(ii) ftl O;fDr us eqdnek fd;k gS] mls QeZ ds jftLVj esa lk>snkj ds :i esa fn[kk;k x;k FkkA  

mRrj&vr% ge dg ldrs gS fd %& 

bl ekeysa esa B vkSj C ds }kjk X ds fo:) eqdnek fd;k tk ldrk gSA  

mÙkj&bl ekeysa esa igyh 'krZ larq"V gqbZ gS ij nwljh 'krZ iwjh ugha gqbZ gS] D;ksafd ftl O;fDr us okn 

izLrqr fd;k Fkk] mldk uke jftLVªkj ds QeZ ds jftLVj esa lk>snkj ds :i esa iznf'kZr ugha FkkA 

 

Answer: 

(b) lk>snkjh ns;rk% ç'u esa leL;k Hkkjrh; Hkkxhnkjh vf/kfu;e] 1932 dh /kkjk 35 esa fufgr çko/kkuksa ds 

vk/kkj ij gSA /kkjk ;g çnku djrh gS fd lk>snkjksa ds chp ,d vuqca/k ds rgr QeZ lk>snkj dh e`R;q 

ls Hkax ugha gksrh gSA ,d e`r lk>snkj dh lEifRr mldh e`R;q ds ckn fd, x, QeZ ds fdlh Hkh dk;Z 

ds fy, mÙkjnk;h ugha gSA blfy,] mijksä çko/kkuksa dks ns[krs gq,] leL;k dk mÙkj fuEukuqlkj fn;k 

tk ldrk gS% 

bl ekeys esa jke dh laifÙk [kjhnh xbZ e'khujh dh dher ds fy, mÙkjnk;h ugha gksxhA 

bl ekeys esa ysunkjksa ds ikl thfor lk>snkjksa ds f[kykQ dsoy ,d O;fäxr fMØh gks ldrh gS vkSj 

mu Hkkxhnkjksa ds gkFkksa esa Hkkxhnkjh laifÙk ds f[kykQ fMØh gks ldrh gSA gkykafd] pwafd thfor lkFkh 

igys ls gh fnokfy;k gSa] blfy, dtZ dh olwyh ds fy, dksbZ Hkh eqdnek muds f[kykQ ugha gksxkA 

csps vkSj fn, x, eky ds fy, ,d okn e`r lk>snkj ds çfrfuf/k ds f[kykQ Hkh ugha gksxkA 

,slk blfy, gS D;ksafd jke ds thoudky eky ds fy, dtZ ugha FkkA  

 

Answer 4: 

(a) vuqca/k dh fof’k"Brk dk fl)kUr %&;|fi Hkkjrh; vuqca/k vf/kfu;e] 1872 ds vUrxZr fdlh le>kSrs 

ds fy, izfrQy fdlh r`rh; i{kdkj }kjk fn;k tk ldrk gS] ysfdu r`rh; i{kdkj le>kSrs ij okn 

izLrqr ugha dj ldrsA dsoy vuqca/k dk i{kdkj O;fDr gh okn izLrqr dj ldrk gSA bls gh vuqca/k 

dh fof’k"Brk dk fl)kUr dgrs gSA 

 mnkgj.k & ih tks D;w dk _.kh gS viuh lEifÙk vkj dks csprk gS rFkk vkj _.k dh jkf’k dks D;w dks 

pqdkus dk opu nsrk gSA ;fn vkj Hkqxrku djus esa vlQy jgrk gS rks ,slh ifjfLFkfr esa D;w dks okn 

nk;j djus dk vf/kdkj ugha gS D;ksafd vkj vuqca/k ds izfr ,d vtuch gSA 

 mijksDr fu;e fd vuqca/k ds izfr vtuch O;fDr okn nk;j ugha dj ldrk gS ^^vuqca/k dh fof’k"Vrk 

dk fl)kUr^^ dgykrk gS tks dbZ vioknksa ls Hkh xzLr gSA nwljs 'kCnksa esa] ;gkW rd fd vuqca/k ds izfr 

vtuch ,d O;fDr fuEu ekeyksa esa fdlh nkos dks izoÙkZuh; djk ldrk gS%& 

(1) izU;kl dh fLFkfr esa] ,d fgrizkIrdrkZ izU;kl esa vf/kdkjksa dks ykxw dj ldrk gS] tcfd og 

fuiVkudrkZ rFkk izU;klh ds e/; vuqca/k dk ,d i{kdkj Hkh ugha FkkA 

(2) ikfjokfjd fuiVkjs dh fLFkfr esa] ;fn fuiVku dh 'krsZ fyf[kr :Ik esa gSa] rks ifjokj ds lnL; 

tks ekSfyd :Ik ls fuiVkjs ds i{kdkj ugha gS] le>kSrs dks izoÙkZuh; djk ldsaxsaA  

(3) fof’k"V fookg vuqca/kksa esa] ,d efgyk lnL; vfoHkkftr ifjokj ds foHkktu ij oSokfgd O;;ksa 

dh O;oLFkkdh ekWx dj ldrh gSA  
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(4) vuqca/k ds leiZ.k ¼gLrkarj.k½ ds ekeys esa] tc fdlh vuqca/k ds vUrxZr ykHk gLrkarj.k 

fd;k x;k gks rks gLrkrajh vuqca/k dks izoRrZuh; djk ldrk gSA 

(5) nkf;Ro dks Lohdkj djds xR;kojks/k ds ekeys esa ;k mldh vkaf’kd fu"ifÙk esa vFkkZr~ tc dksbZ 

nkf;Ro dks Lohdkj djrk gksA mnkgj.k ds fy, ^,y^ ^,e^ dks 2]000 :Ik;s ^,u^ dks nsus ds fy, 

nsrk gSA ^,e^ ^,u^ dks lwpuk nsrk gS fd eSaus rqEgkjh jkf’k dks j[kk gqvk gS ijUrq ckn esa ^,e^ 

mDr jkf’k nsus ls euk dj nsrk gS rks ^,u^;g jkf’k mlls ysus ds fy, iw.kZr% vf/kd̀r gSA  

(6) fdlh csukeh Hkwfe ds ekeys esa tks O;fDr Hkwfe dks bl lwpuk ds lkFk Ø; djrk gS fd Hkwfe 

dk Lokeh Hkwfe ds LokfeRo dks izHkkfor djus okys dqN nkf;Roksa ls tqMk gqvk gS rks ,slh 

csukeh Hwkfe ij foØsrk ds mRrjkf/kdkjh }kjk izoÙkZuh; djk;k tk ldrk gSA  

(7) ,d vfHkdÙkkZ }kjk fd;s x;s vuqca/k & eky/kuh vius vfHkdrkZ }kjk fd;s x;s vuqca/kksa dk 

izorZuh; djk ldrk gS tgkW vfHkdrkZ us vius vf/kdkj&{ks= dh lhek esa dke fn;k gS rFk 

eky/kuh ds uke esa fd;k gksA 

 

Answer: 

(b) vo;Ld ykHkx`fgrk gks ldrk gS ;k vuqcU/k ls ykHk mBk ldrk gS %&;|fi ,d vo;Ld vuqcU/k 

djus dh {kerk ugha j[krk ysfdu vuqcU/k vf/kfu;e dh dksbZ Hkh ckr vU; i{kdkj dks mlds izfr 

ck/; gksus ls ugha jksd ldrk gSA  

mnkgj.k %& ,d vo;Ld ds i{k esa fof/kor fy[kk x;k ,d izfrKki= O;FkZ ugha gksrk rFkk mlds }kjk 

ml ij okn fd;k tk ldrk gS] D;ksafd og Hkys gh vuqcU/k djus esa v{ke gS] fQj Hkh og ykHk Lohdkj 

dj ldrk gSA  

mnkgj.k %& ,d vo;Ld ds i{k esa ,d ca/kd cuk;k x;k fu.kZ; fn;k x;k fd og ca/kd dh 

izorZuh;rk gsrq ,d fMØh ys ldrk gSA  

 

Answer: 

(c) le>kSrk ftldk vFkZ vfuf'pr gS (Agreement the Meaning of Which is Uncertain) /kkjk & 

29 %& ,d le>kSrk ftldk vFkZ fuf'pr ugha gS] O;FkZ gksrk gS] ijUrq tgka mldk vFkZ fuf'pr cuk 

ikus esa leFkZ gks] oS/k ekuk tkrk gSA 

mnkgj.k %& A, B dks 100 Vu dPpk rsy] cspus dk le>kSrk djrk gSa] bles ,slk dqN Hkh Li"V ugha 

gS] tks ;g crk;s fd fdlh izdkj dk rsy fn;k tkuk gSA ;g le>kSrk vfuf'prrk ds dkj.k O;FkZ gSA 

;fn A dsoy ukfj;y ds rsy dk O;kikj djrk gks] D;ksafd ml n'kk esa rks mldk vFkZ fuf'pr :i ls 

le>k tk ldrk gS] rks le>kSrk oS/k gks ldrk gSA 

 

Answer 5: 

(a) v;FkkFkZ & Hkkjrh; vf/kfu;e dh /kkjk 18 ds vuqlkj bl esa v;FkkFkZ ¼feF;ko.kZu½ lekfgr gSA  

 1-  dksbZ O;fDr fo’okliwoZd ;g dgrk dh mldk dFku lR; gS tc dh ;g lwpuk  gS fd oSlk 

ugha gS ;|fi og fo’okl djrk gS fd mldk dFku mfpr gSA  

 2-  tc fdlh O;fDr }kjk vius drZO; dk fuoZgu ugha fd;k tkrk gS vkSj ,slk djus okys O;fDr 

dks ,slk djus ls dksbZ ykHk gksrk gS vkSj og fdlh vU; O;fDr dh xqejkg djrk gS vkSj bl 

dk Qk;nk mBkrk gSA  

 3-  tc dksbZ i{k nwljs i{k dk uqdlku djrk gS Hkys gh ;g vutkus esa fd;k x;k gks rks nwljk 

i{k tks fd vuqca/k dj jgk xyrh dj ysrk gS D;ksafd vuqca/k ds rF; xyr :Ik esa izLrqr fd, 

x, gSA  

 fdlh i{k }kjk v;FkkFkZ rF; izdV djus ds QyLo:Ik ftl i{k ij izHkko gqvk gS og Hkkjrh; vuqca/k 

vf/kfu;e] 1872 dh /kkjk 19 ds vuqlkj ml vuqca/k dks jí dj ldrk gS ;g mlls cp ldrk gS 

vid`r i{k dks ;g vuqc/k jí djus dk vf/kdkj ugha gksxk ;fn ml i{k us v;FkkFkZ dFku dk irk 

yx tkus ds ckn ml vuqca/k ls dksbZ ykHk mBk;k gks ;k ml vuqc/k ds izfr viuh dksbZ lgefr trkbZ 

gks rks fn;s x;s mnkgj.k esa lwjt ml vuqca/k dks jí ugha dj ldrk D;ksafd mlus lksgu }kjk 
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eksVjlkbZfdy Bhd djokus rFkk Bhd djokus ij gksus okys [kpZ dk 40 izfr’kr Hkkx ij viuh lgefr 

trkbZ gS bl izdkj lwjt us vUrr% lksgu }kjk dh x;h fcdzh ds izfr viuh lgefr nh gSA ¼yksUx 

cuke yk;M 1958½- 

 

Answer: 

(b)   bl iz’u esa iwNh x;h leL;k oS/k vuqca/k dh ewy vko’;rk ij vk/kkfjr gS oS/k vuqca/k dh ewy 

vko’;rkvksa ds vuqlkj dskbZ Hkh vuqca/k ,slk ugha gksuk pkfg, tks fd voS/kkfud gks rFkk voS/k gks ;k 

'kwU; gksA voS/k vuqca/k dk dksbZ oS/kkfud ;k dkuwuh izHkko ugha gksrk gS blfy, dksbZ vuqca/k tks fdlh 

O;kikj] fookg ;k fdlh oS/kkfud dk;Zokgh ij fdlh izdkj dh jksd yxkrk gS og vuqca/k 'kwU; vkSj 

voS/k gksxkA  

 blfy, fe- X. fe- lsB }kjk fd, x, ok;sn ds :- 5 yk[k olwy ugha dj ldrk gS D;ksafd mUgha esa 

,d voS/k vuqca/k fd;k Fkk ftls fdlh U;k;ky; ls ykxw ugha djok;k tk ldrk gSA ;g yksduhfr ds 

fo:) gksus ds dkj.k O;FkZ gSA 

 

Answer:  

(c)  fuEufyf[kr xfHkZr vk’oklu gksrs gSa%& 

1. ’kkfUriw.kZ dCts dk vk’oklu % ,d xfHkZr vk’oklu ls rkRi;Z gS fd Øsrk dks ’kkfUriwoZd 

rjhds ls oLrq ds iz;ksx djus dk vf/kdkj gksxkA vFkkZr~ ;fn Øsrk us eky dks dCts esa ys 

fy;k gS vkSj ckn esa bl vf/kdkj esa ck/kk Mkyh tkrh gS] rc mls foØsrk ij vk’oklu Hkax 

djus ds fy, okn izLrqr djus dk vf/kdkj gS tc rd fd vuqcU/k dh ifjfLFkfr;kas ls fdlh 

fHkUu vFkZ dk irk u pyrk gksA 

2. Hkkj eqDr gksus dk vk’oklu % ,d xfHkZr vk’oklu dh oLrq,¡ fdlh rhljs Ik{k ds izfr ftlds 

fo"k; esa Øsrk dks vuqcU/k ds le; vFkok mlls iwoZ dksbZ lwpuk ugha nh xbZ Fkh vFkok mls 

irk ugha Fkk] Hkkj eqDr gksaxhA 

mnkgj.k % *v* us 15]000 :- ds _.k ds fy, *l* ds ikl viuh dkj dks fxjoh j[kk rFkk 

mldks dkj dk vxys fnu dCtk nsus dk opu fn;kA *v* us] fQj rqjUr gh dkj dks *c* dks 

csp fn;k ftlus bl rF; dks tkus fcuk] ln~Hkkouk esa dkj dks [kjhn fy;kA *c* ;k rks _.k 

ykSVkus ds fy, *v* dsk dg ldrk gS ;k Lo;a iSlk pqdk ldrk gS rFkk fQj C;kt ds lkFk 

jde okfilh ds fy, *v* ds fo:) okn nk;j dj ldrk gSA 

3. eky ds [krjukd gksus ds fo"k; esa lwpuk % foØsrk ds }kjk ,d vkSj xfHkZr vk’oklu gksrk gS 

fd ;fn oLrq ewy :i ls [krjukd gS vFkok Øsrk ds fy, blds [krjukd gksus dh laHkkouk gS 

vkSj Øsrk mDr [krjs ds izfr vufHkK gS rc foØsrk ds fy, ;g vko’;d gS fd og Øsrk dks 

lEHkkfor [krjs ds lEcU/k esa psrkouh nsA ;fn bl vk’oklu dks Hkax fd;k tkrk gS rc foØsrk 

gtkZuk nsus ds fy, mRrjnk;h gksxkA   

4. xq.koRrk ;k mi;qDrrk ds izfr O;kikj ds rkSj&rjhds ds }kjk vk’oklu % fdlh mÌs’; fo’ks"k 

ds fy, xq.koRrk ;k mi;qDrrk ds izfr ,d xfHkZr vk’oklu O;kikj ds rkSj&rjhdksa }kjk tksM+k 

tk ldrk gSA 

 

Answer 6: 

(a) dEiuh vf/kfu;e 2013 dh /kkjk 4¼1½¼c½ ds vuqlkj dEiuh dh 'kfDr;k¡ fuEu lhek rd lhfer gksrh 

gSa& 

 (i) og 'kfDr;k¡ tks fd dEiuh ds lhekfu;e ds mn~ns'; mifu;e ls izkIr gksrh gS ¼ftUgsa Li"V 

izdV 'kfDr dgk tkrk gS½ ;k og 'kfDr gksrh gS tks mls dEiuh vf/kfu;e ;k vU; fdlh 

fo/kku ls izkIr gksrh gS] vkSj  

 (ii) og 'kfDr;k¡ tks mfpr dkj.kksa ls vU; 'kfDr;ksa ds le:i gS ;k vko';d gS rkfd dEiuh dk 

eq[; mn~ns'; izkIr fd;k tk lds ¼ftudks fufgr 'kfDr;k¡ dgk tkrk gS½ 
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bl vf/kfu;e esa vkxs fn;k x;k gS fd og lkjs d`R; tks fd dEiuh dks izkIr 'kfDRk ls vf/kd gS ;k 

ckgj gS og lkjs d`R; 'kfDr cká gksrs gS vkSj 'kwU; gksrs gS rFkk ,sls d`R;ksa dh iqf"V ugha dh tk ldrh 

gS pkgs dEiuh ds lkjs lnL; ml d`R; ds fy, viuh lgefr iznku dj nsosa ¼,s’kHkqjh jsyos dSjht 

dEiuh cuke fjph½A 

dEiuh dk mís’; okD; blds va’k/kkjdksa ysunkjksa ;k vU; dks dEiuh dh 'kfDr;ksa dks tkuus rFkk ;g 

tkuus esa lgk;d gksrk gS fd dEiuh D;k&D;k dk;Z dj ldrh gS ;k fdl {ks= esa og O;olk; dj ldrh 

gSA blfy, mís’; okD; dk blds va’k/kkjdksa] ysunkjksa rFkk vU; ds fy, ewyHkwr egRo dk gksrk gSA  

dEiuh dk i`Fkd oS/kkfud vfLrRo gksrk gS vkSj ;g dEiuh ds lhekfu;e ds mís’; okD; izkIr 'kfDr;ksa 

ds vuqlkj dk;Z djrk gSA  

izR;sd vkneh tks fd fdlh dEiuh ds lkFk fu;e i= laca/kh dk;Z djrk gS rks ;g ekuk tkrk gS fd 

og vkneh dEiuh ds mís’; okD; ls voxr gS] mlus dEiuh ds lhekfu;e ,oa dEiuh ds vUrfuZ;e 

dk fujh{k.k dj fy;k gS rkfd lgh fu;e i= laca/kh le>kSrk gksA vxj ;g djus esa vleFkZ gks tkrk 

gS ;g iwjh rjg mldh xyrh gksxhA  

M/s ,y- ,l-vkj- izkbZosV fy- dsoy Qy ,oa lfCt;ksa dk lh/kk O;kikj dj ldrh gS tksfd mudk 

mís’; okD; gSA bl dEiuh dks 'kfDr izkIr ugha gS fd og ts- ds lkFk lk>snkjh djds yksgs vkSj LVhy 

dk O;olk; djsaA bl d`R; dks fdlh Hkh :Ik esa dEiuh dks izkIr Li"V rFkk fufgr 'kfDr;ksa ds v/khu 

ugha ekuk tk ldrk] gS vkSj ;g d`R; esa] ,y-,l-vkj izk- fy- dh izkIr 'kfDr;ksa ls cká gS fe- ts- 

ftlus bl dEiuh ds lkFk lk>snkjh dh Fkh dks mijksDr ds lUnHkZ esa ;g KkrO; Fkk fd dEiuh dks 

,slk djus dh dksbZ 'kfDr izkIr ugha gSA mijksDr ds izdk’k fe-ts- eS- ,y-,l- vkj- izkbZosV fy- ls ;g 

vuqca/k ;k ns;rk ykxw ugha djok ldrk gS u gh mldk vuqikyu djok ldrk gSA   

 

Answer: 

(b) dEiuh vf/kfu;e 2013 dh /kkjk 8 ds vuqlkj ;fn dsUnz ljdkj dks yxrk gS fd /kkjk 8 okyh dEiuh 

vius mn~ns’;ksa dk mYya?ku dj jgh gS] ftudks /;ku esa j[kdj ykbZlsUl fn;k x;k Fkk vFkok diV esa 

dk;Z dj jgh gS vFkok tufgr ds fo:) dk;Z dj jgh gS rks og ykbZlsUl [kf.Mr dj ldrh gSA  

;fn ykbZlsUl [kf.Mr gksrk gS rks dsUnz ljdkj dEiuh dks fdlh vU; dEiuh ds lkFk lekesfyr dj 

ldrh gSA ijUrq ml dEiuh dk mn~ns’; Hkh dEiuh ds mn~ns’; tSlk gh gksuk pkfg, vFkkZr leku 

mn~ns’; okyh dEiuh ds lkFk foy;u gks ldrk gSA  

;fn dEiuh vU; dEiuh ds lkFk foy;u djrh gS rks ,d ubZ dEiuh cukbZ tk;sxhA ftldh lEifÙk;ka 

nkf;Ro fgr vf/kdkj os gksaxs tks dsUnz ljdkj fu/kkZfjr djsxhA  

mijksDr n’kk esa dsUnz ljdkj us ,d i`Fkd dEiuh cukbZ gSA ijUrq ml dEiuh dk mn~ns’; fcydqy 

vyx gSA blfy, dsUnz ljdkj }kjk tkjh fd;k x;k vkns’k dEiuh vf/kfu;e 2013 ds vuqlkj ugha gS 

vkSj dsUnz ljdkj dk QSlyk vuqfpr gSA  

 

Answer 1: 

(c) N }kjk fd;k x;k nkok oS/k ugha gksxk D;ksafd fdlh ok;ns dks fuHkkuk ;k iwjk djuk ;k u djuk dsoy 

ok;nk Øsrk dh bPNk ij fuHkZj djrk gS ,slk dksbZ ok;nk vuqca/k ugha gksrk gSA  

 Hkkjrh; vuqca/k vf/kfu;e] 1872 dh /kkjk] 29 ds vuqlkj ,sls vuqca/k ftudk vFkZ ;k vfHkizk; fuf’pr 

u gks ;k ftUgsa lqfuf’pr u fd;k tk ldrk gks ,sls vuqca/k 'kwU; gksrs gSA  
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A 

G B 

D C 

PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 

 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 

Answer 7: 

(a) 1. a 

 2.  d 

 3. b 

 4. b 

 5. c 

 

Answer: 

(b) 1) The army captain was awarded the Param Vir Chakra posthumously. 

  (b) After death 

 2) Seeing the artist work with such finesse, the crowd cheered. 

  (a) Expertise 

 3) His parents were adamant about not sending their son for a two day trip. 

  (b) Inflexible 

 

Answer: 

(c) The star communication network has multiple channels of communication open 

between all members. This network propagates group communication and is 

essential where teamwork is involved. The members communicate and exchange 

information with each other freely, and without hindrance or hesitation. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

   

 

Star Network 

 The usefulness of all networks depends on the structure and size of the company, 

and the manner of communication between the employees. Good communication 

relies on the sincerity of the employees within the company as well as properly 

defined processes in the organization. These parameters help the organization 

achieve its objectives. 
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Answer 8: 

(a) Unemployment: No longer India’s economy capital 

 Hints:. 

 The world economy is facing 2 major challenges-unemployment and poverty. 

 Financial crisis caused by unemployment leads to an overall purchasing 

power resulting in poverty followed by an increasing burden of debt. 

 In India, the problems of underemployment, unemployment and poverty have 

always been the main hindrances to economic development. 

 Another colossal problem is the large population. 

 A critical aspect is the regional disparity. 

 Mass migration from rural to urban regions is adding to the problems of 

unemployment and poverty. 

 Economic reforms, changes in the industrial policy and better utilization of 

available resources will reduce the problem. 

 The government must initiate long term measures for poverty alleviation. 

 

Answer: 

(b) Barriers in Communication: There are multiple barriers in the communication 

process. These barriers result in distortion and misunderstanding of the intended 

communiqué. The barriers can be physical, psychological, emotional, cultural, 

linguistic etcetera. 

1. Physical barriers: These are a result of our surroundings. Noise, technical 

disturbances, outdated equipment, distant locations, office doors, separate 

areas for people of different areas, large office spaces, old technology and 

lack of appropriate infrastructure can lead to problems in transmission of 

message. 

2. Organizational structure barriers: Communication problems occur when the 

systems, structures and processes in the organization are not clear or have 

gaps in them. If the chain of command is unclear, a person may not know 

whom to contact for a particular issue. Inappropriate information transmission 

systems, lack of supervision, and unclear role and responsibility demarcations 

lead to confusion and inefficiency. 

3. Language barriers: Language can create many obstacles in communication. 

Literally, people from different regions and countries may interpret the same 

words differently. Difficult words, subject specific terminology, unfamiliar 

expressions and ambiguous words having multiple meanings, create hurdles     

in communicating. It is also a fact that that the linguistic ability of various 

people in the work place is different. Some maybe proficient in the language 

while others may possess just basic skills. Therefore, it is important to use 

clear, simple easily understood language in most of your official 

communications. 

4. Cultural barriers: Understanding cultural aspects of communication refers to 

having knowledge of different cultures in order to communicate effectively 

with cross culture people. Understanding various cultures in this era of 

globalization is an absolute necessity as the existence of cultural differences 

between people from various countries, regions tribes and, religions, where 

words and symbols may be interpreted differently can result in 

communication barriers and miscommunications. Multinational companies 

offer special courses and documents to familiarize their staff with the culture 

of the country where they are based for work. 

 In addition, every organization too has its own work culture. In fact, 

departments within the same company may also differ in their expectations, 
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norms and ideologies. This can impact intra and inter organizational 

communication. 

 The same principle applies to families and family groups, where people have 

different expectations according to their background and traditions leading to 

friction and misunderstanding. A very simple example is of the way food is 

served by a member of a family. It can be the cause of appreciation or 

displeasure. 

5. Emotional barriers: One of the chief barriers to open and free communications 

is the emotional barrier. Anger, fear of criticism or ridicule, mistrust of 

person, suspicion of intentions, jealousy, anxiety and many more feelings and 

sentiments we carry within us, affect our communication ability and quality. A 

person who is upset and disturbed cannot pass on or receive information 

appropriately and objectively. His emotions will colour his perception and 

assessment of the communication. 

6. Attitude barriers- Personal attitudes of employees can affect communication 

within the organization. A proactive, motivated worker will facilitate the 

communication process, whereas a dissatisfied, disgruntled, shy, introvert or 

lazy employee can delay, hesitate in taking the initiative, or refuse to 

communicate. Attitude problems can be addressed by good management and 

regular interaction with staff members. 

7. Perception Barriers- Each one of us perceives the world differently and this 

causes problems in communicating. The same content is seen and interpreted 

differently by two people and therein lies the root cause of 

miscommunications and misunderstandings. 

8. Physiological barriers- Ill health, poor eyesight, hearing difficulties or any 

other physiological problems can be hurdles in effective interaction with 

others. 

9. Technology barriers– In today‟s world, communication modes are primarily 

technology driven. This communication technology is being constantly 

upgraded or new formats emerge ever so frequently. Anyone who is not tech 

friendly struggles to communicate effectively via the medium. 

 Moreover, an individual is faced with a huge amount of information every day 

in the form of emails, texts and social updates. Multitasking is the norm these 

days. The information overload and trying to accomplish too many things 

together can result in gaps in communication and miscommunications. 

10. Gender barriers- Men and women communicate differently. The reason for 

this lies in the wiring of a man‟s and woman‟s brains. Men talk in a linear, 

logical and compartmentalized manner whereas the women use both logic 

and emotion, and are more verbose. This may be the cause of communication 

problem in an office where both men and women work side by side. Men can 

be held guilty of providing insufficient information, while women may be 

blamed for providing too much detail. 

 Gender bias is another factor in communication barriers. Due to traditional 

mindsets, many men find it difficult to take orders from, or provide 

information to women. 

 

Answer: 

(c) 1. It was quite humorous to see the minister talk about health and fitness 

issues. 

  (a) Rotund 

 2. The sage is leading a life in the mountain peaks. 

  (a) spiritual 
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Answer 9: 

(a) Date: July 09, 2019 

 Venue: Conference Hall, 2nd Floor,  

 Meeting Started at 02:00 PM 

 In attendance: Mr. Ram Swami Nathan, Head, Sales and Marketing, Mr. Prabhu Das, 

Product Head, Product lead, four members of the sales team. 

 Mr. Ram Swami Nathan, Head of Sales and Marketing informed the agenda of the 

meeting i.e., the sales decline in the product. 

 Ms. Reena Mathur, Sales lead gave a detailed analysis of the sales figures for the one 

year. 

 Her team including Mr. A. Mr. B, Ms. C, Ms. D elaborated on the market trend target 

customers and their needs. 

 Mr. Prabhu Das, Product Head expressed concern over the matter, discussed a few 

changes in the sales strategy. 

 All the participants contented to the concerns raised and decided to submit their 

reports. 

 The Head of Sales and Marketing proposed a vote of thanks and declared the next 

meeting to discuss reports to be held on August 02, 2019. 

 ATR to be submitted by July 26, 2019 to the Head Sales and Marketing. 

 

Answer: 

(b) Communication for humans is akin to breathing. From the first cry of the baby to the 

last breath of a person, communication is an essential part of life. However, good 

communication is an art that has be developed and honed. Effective communicators 

practice every aspect of the skill frequently. 

 It is affect that our everyday communication is often marred by confusion, 

misunderstandings, misconceptions, partial understanding and obscurity. Thus, 

several aspects must keep in mind while interacting with others for our 

communication to convey the intended message. 

1. Clear: Any spoken or written communication should state the purpose of 

message clearly. The language should be simple. Sentences ought to be short 

as the core message is lost in long, convoluted sentences. Each idea or point 

must be explained in a separate bulleted points or paragraphs. Make it easy 

for the reader to grasp the intent of the communiqué. 

2. Concise: Brevity is the essence of business communication. No one has the 

time to read long drawn out essays. Besides, the core content is lost in 

elaborate details. Avoid using too many irrelevant words or adjectives, for 

example, „you see‟, „I mean to say‟, etc. Ensure that there are no repetitions. 

3. Concrete: The content of your communiqué should be tangible. Base it on 

facts and figures. Abstract ideas and thoughts are liable to misinterpretation. 

Make sure that there is just sufficient detail to support your case/ argument 

and bring focus to the main message. 

4. Coherent: Coherence in writing and speech refers to the logical bridge 

between words, sentences, and paragraphs. Main ideas and meaning can be 

difficult for the reader to follow if the writer jumps from one idea to another 

and uses contradictory words to express himself. The key to coherence is 

sequentially organized and logically presented information which is easily 

understood. All content under the topic should be relevant, interconnected 

and present information in a flow. 
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5. Complete: A complete communication conveys all facts and information 

required by the recipient. It keeps in mind the receiver‟s intellect and attitude 

and conveys the message accordingly. A complete communication helps in 

building the company‟s reputation, aids in better decision making as all 

relevant and required information is available with the receiver. 

6. Courteous: Courtesy implies that the sender is polite, considerate, 

respectful, open and honest with the receiver. The sender of the message 

takes into consideration the viewpoints and feelings of the receiver of the 

message. Make sure nothing offensive or with hidden negative tone is 

included. 

7. Listening for Understanding: We are bombarded by noise and sound in all 

our waking hours. We „hear‟ conversations, news, gossip and many other 

forms of speech  all the time. However, most of it  is not listened to carefully 

and therefore, not understood, partially understood or misunderstood. A good 

listener does not only listen to the spoken words, but observes carefully the 

nonverbal cues to understand the complete message. He absorbs the given 

information, processes it, understands its context and meaning and to form 

an accurate, reasoned, intelligent response. 

 The listener has to be objective, practical and in control of his emotions. Often 

the understanding of a listener is coloured by his own emotions, judgments, 

opinions, and reactions to what is being said. 

 While listening for understanding, we focus on the individual and his agenda. 

A perceptive listener is able to satisfy a customer and suggest solutions as 

per the needs of the client. 

8. Focus and Attention: Everyday work environment has multiple activities 

going on simultaneously. The ringing of the phone, an incoming email, or a 

number of tasks requiring your attention, anxiety related to work, emotional 

distress etc. can distract you. Such distractions are detrimental to the 

communication process with an individual or a group of people. You may 

overlook or completely miss important points or cues in the interaction. Thus, 

keeping your focus and attention during the communiqué is imperative for 

effective communication. 

9. Emotional Awareness and Control: “Human behavior is not under the sole 

control of emotion or deliberation but results from the interaction of these two 

processes,” Lowenstein said. 

 However, emotions play a major role in our interactions with other people. 

They are a powerful force that affects our perception of reality regardless of 

how hard we try to be unbiased. In fact, intense emotions can undermine a 

person‟s capacity for rational decision-making, even when the individual is 

aware of the need to make careful decisions. 

 Consequently, emotional awareness is a necessary element of good 

communication. While interacting with another person or a group, it is 

important to understand the emotions you and he/she/they are bringing to 

the discussion. Managing your own and others emotions and communicating 

keeping in mind the emotional state of others helps in smooth interaction and 

breakdown of the communication process. 

 

Answer: 

(c) 1. The farmer is purchasing the horse. 

 2. The police officer will give him a ticket for over speeding. 
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Answer 10: 

(a) Language and Gender 

 The word „gender‟ used in two contexts, first for grammatical gender and second 

biological gender. Language is influenced by gender. Women tend to use more 

standard language than men (perhaps due to their position in western societies). On 

the other hand they also tend to be at the forefront of linguistic innovations. A 

woman tends to good in verbalization. 

 

Answer: 

(b) Informal communication: Informal Communication is the casual, friendly and 

unofficial. It is spontaneous conversation and exchange of information between two 

or more persons without conforming to the prescribed official rules, processes, 

systems, formalities and chain of command. 

 Informal communication is between family, friends, neighbors, members of the 

community and other social relations that are based on common interests, tastes 

and dispositions. Information can flow from any source in any direction. 

 Employees in an organization interact with each other outside the formal domain. 

Such communication is called „grapevine‟ - gossip in the office. Employees of different 

departments and varied levels meet and discuss matters casually and informally. The 

grapevine satisfies the social needs of the people and helps in building relationships. It 

is also useful in addressing certain needs and grievances of employees. 

 

Answer: 

(c) 1. The obstacle course was run by me in record time. 

 2. Costs would be reduced by us if we use less paper. 

 

Answer 11: 

(a) Writing Formal Letters and Official Communication 

 Kalu Sarai,  

 New Delhi 

 August 09, 2019  

 MR. Ramesh 

 Director, Sales and Marketing  

 XYZ Pvt. Limited 

 Dear Sir/Ma‟am, 

 Sub: Order Confirmation (No: XYZ/0012/Jun 2019) 

 I would like to take the opportunity to thank you for giving us a business 

opportunity. It is an honour for us to be serving your esteemed organization that 

enjoys a formidable reputation. 

 I would like to inform you that the 1800 units of machinery ordered vide Order no. 

XYZ/0012/Jun 2019, will be delivered as per the mutually decided date. In addition, 

our experts would come to install the machinery and give a detailed demo of its 

working. We would also provide a free for the next two years, taking care of any 

wear and tear or products damage. The products has two year warranty period. 

 For any other query regarding the machinery ordered and its functioning, please feel 

free to contact us. We would be happy to serve you at the earliest. 

  

 Thanks and Regards,  

 Ashita Bhargava 

 Sr. Manager 

 Operations and Admin Department  
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Answer: 

(b) Verbal: Verbal communication involves the use of words and language in delivering 

the intended message. Though „verbal‟ primarily refers to communication through 

the spoken medium, while categorizing „types‟ of verbal communication the written 

and oral form of communication are included. 

 Written communication includes letters and documents, e-mails, reports, 

handbooks, brochures, various chat platforms, SMS and any form of written 

interaction between people. The written form of communication is essential 

and indispensable for formal business interactions (contracts, memos, press 

releases, formal business proposals etc.) and legal instructions and 

documentation. The effectiveness of written communication depends on the 

writing style, grammar, vocabulary, and clarity. 

 Oral Communication refers to communication through the spoken word, either 

face-to-face, telephonically, via voice chat, video conferencing or any other 

medium. Formal medium like lectures, conferences, seminars, meetings and 

informal conversations, chit-chat, gossip etc. are part of oral communications. 

Effective of oral communication depends on clear speech and the tone used 

by the speaker. Speaking in too high/ low volume or too fast/slow can also 

impair communication between people. Even non-verbal communications such 

as body language and visual cues effect the quality of interaction among 

individuals or group. 

 

Answer: 

(c) 1. She said that she would be taking a test. 

 2. The asked his manager if he should email that letter again. 

 

 

 

 

*** 
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